
Corporation

®

est. 1931

OVERHEAD STRUCTURE ASSEMBLY

29 powder hill road, lincoln ri 02865  |  tf: 800.333.1603  |  ph: 401.333.1600  |  fx: 401.333.1952  |  www.stackbin.com 

3/4” hex bolt
washer

rectangular nut

underside
of bench top

center
support

pre-drilled holes

3/8" lag bolts

washers

center
upright
comes pre 
welded

center upright support to wood top

4 tap bolts 3/4” 
long

8 washers 4 square nuts

HARDWARE REQUIRED:

assembling center mount overhead upright bracket.
With the bench top down on the floor, find the exact center of the bench top and center the bracket as shown. Make sure the bracket 

is flush with the back of the bench top, then mark four holes to be drilled. Using a 9/32” drill bit, drill the pilot holes about 3/4” deep 

being very careful not to drill through the wood top. Place the bracket back on the top making sure that it is flush with the back of the 

bench top and secure using 4-3/8” tap bolts and 4 washers.


